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1. ers frmeaed fotr sk Ges fr

Answer the following as directed :

1x8=8

(@) MR wfier o wefe SfRerm b
A1 TCEY 3941 |

Mention one difference  between

business economics and traditional

€COoNnomics.



(c)

(d)

(2)

(b) <% ofieEe w@fse, wdafow b‘m@}m

239 B3
In a planned economy, all the economic
decisions are made by
fi) veF 3
the Government
(fi) TTETTTR
the individuals
(1) FRIER ISP ERIAFCA
the elders of the society
fiv) =T
the labours
( W% Teh A e )

( Choose the correct answer )

R @& s Targ 99 99| T |
(% 77 SR e )
Price of the substitute goodsiis one of
the determinants of the demand.
( Write True or False )
vhem 2% e (Ve IR e w2 g
R AT R ARk N
(% & o)
No change of income of the consumer is
an assumptiony, of law of demand
explanation.

( Write True or False )

fe)

(9)

(h)

{3)
TTIA ST - B can T
a9 |
(=nfe 572 @ w7
Higher? isoproduct curve represents

level of production.

( Fill in the blank )

B z@e S = s o amy T
T TAMER fEer sfte e e
TE W e @R R
(fei 373 o == )
The rate of change in production is
same with the rate of change in inputs
is known as returns to scale.
( Fill in the blank )

TG T4 E T[T =& G0 12 TE F90 |

Mention one difference between market
price and normal price.

@A RfReem Teonfte wE ogied 8T
63 3 |
(87 (7 oy, for )
The classification of market depends
upon the nature of the produced goods.
( Write True or False )



(4)

( 57
2. TR epef3FR 681@'@3 forr ‘ 4x4§16 .
Answer the following questions 1 brief . S
s AR «BR @Y TR R B2 15 TER
e SR RRE R B b} =S & ' 1R %S
(@) TUSAF WIS e (TR % S A ¥R T+7=14
Mention the scope of bUSmE:ss What are the central economic
economics. problems? How does the free market
economy solve these problems?
(b) €% TERE s B SPPR TS vk 4. (o) foie miiEm fEfewrre T o afifes P
@< oE 79 TR CFe fofe vifEm Rferemen 9wy
s sgemsan &4 | 6+8=14

Draw a demand curve with the help of 5

imaginary in dividual demand schedule. What is cross-elasticity of demand?

Discuss the importance of cross-
elasticity of demand in business

fc) TTEFRI YRF 7O 0! 5y O fer | decision-making process.
Write a short note on expantion path, &2&/ Or
(b) TiftwR fEfeweme o & qm 2 Rfen a9
(@) om ofevm bR AR feufion R v Rfeweer R Seesa $411 2+12=14
m:gas el 9 | What do you mean by elasticity of
) ) w X demand? Discuss about the different
Discuss briefly about the extem types of elasticity of demand.

economies of a business firm.

5. (a) I2& TER TR fewm W wfieam g
& o0 & 5 FRET 79 2. TR TeATER

3. (@) W @ WA R e wEO ™ fioam we Sfieim gerRe 2§, Wbl
(PP g ey SEema) 91 | 4+10-14 e | 4+10-14

' What do you mean by economies and

What is price ‘mechanism? DiSCU?S diseconomies of large-scale production?

m Discuss the different factors influencing

the importancévoef price mechanis

i ; i and diseconomies  of
business economics. economies

large-scale production.



(6)
( 74

&3/ Or
( Old Course )

(b) T SR S A RATE Ry

Rzy T TT WAl F9 | s Full Marks - 80

Pass Marks : 32

Discuss about optimum factor
mbinati business firm wi _ »
combination of a th the Y . R B ene

help of diagram.
P 2 Answer the following as directed :

fa) TG wfs epfoe wffa®m ; wwfee®

(a) %9 efeiredEe @R Teomm afobiT 2 LA |
wE 7Y I (@GR W OWE e fady ( o= Teahr 1M Tferear )
T3, S 41 | 7+7=14 Business economics Is microeconomics
Discuss how firms determine price and / macroeconomics in nature.
output under perfect competition in the ( Choose the correct answer )
short-run and long-run. (b} FffeR =@ Remew e afovm
521/ Or NS AEY (2 A |
(% 1 SRym fordt
(b) =TT OE WE AP I S <o AGHI , : : !
14 Business economics specially
ST T 1T _ associated with the business firms.
Explain the equilibrium of ‘a firm with ( Write True or False )
the help of marginal ‘revenue and

(c) JW WRWR 961 Cwrzq i |

Give an example of joint demand.

(d) TER SR R IER biR FoRE qB T |
(w7 &g fora )
Income of the people is one of the
factors determining market demand.
( Write True or False )

marginal cost,



(e)

0,

(g)

(h)

oy Teomra MW R0 WP e gy
337

When marginal product is zero, what
will be the total product?

FR-BeSR| (@3] PP (I WCT F1STRR o
(W% G o forey )

Isoquant curves do not slope downward
from left to right like indifference
curves.

( Write True or False )

IEH GEHOA GG A S Seed IR
TEETER T W WE TR T [ {2

What rules of revenue and cost follow by
the monopolist to earn maximum profit?

G553 sgfer 9

Which feature of monopoelistic competi-
tion is monopolistiesin, nature?

2. oA erfeened 59 ©ea forr -

.9)

Answer the following questions in brief -

(@)

(b)

(c)

(@)

3. (g

afdfers Pam 2=q sfeam wias T30 Ry
T |

Mention four chief phases or steps for
business decision-making process.

oifew 6 2 wifEm R 9/ e s @R
fSHEPE TrEy 4 |
What is demand? Mention the

assumptions which are necessary for
explanation of law of demand.

BN R SR G S o = |

Explain in brief four characteristics of
isoquant curve.

GFOHY IS PN @ G BIEIEDES
TEY 9

State the barriers to
monopoly market.

entry into

AT TemE @ AT wdRiee
RN (2R, I FAT |

Explain how economic theories are
applied to business economics.

4x4=16

14



( 10 ) (a1 |

®e3T /) Or a Or
e weSfer RFETIR R U a .
() TR wRRER (IET )l by o iR T g e
Nl 1t h tETiSE 14 Ckf Afoanfsieed AGAS T BeE fadly
18C i ail the characteristics
Discuss in detai th of ks G oeia
business €Conomics. N
Mention the characteristics of perfect
4. fa) TR W ffepere il w1 WT{ competition. How is price determined
fErR we woﬁ e wify foaq under perfectly competitive market?
FEXEC IR 9 | 4+10= 14
6.0(a) T RIRT TIFE WEF WAHE v

Discuss price elasticity of demand,
Explain perfectly elastic and perfectly
inelastic demand with the help of

TEe 39 | W@ ReeheR $9 @Inhy g
IS (AT TR T EE 7 fadfa 9,
HICEADAT BT 7+7=14

diagrams.
%31/ Or Discuss the necessary and sufficient
conditions for price discrimination.
b fofe viEw REfogsee MRTS @ [R Explain how a discriminating mono-
reze Tee w0 IS Prm a2k cwae polist decides his output and price.
fete wfen fefegrrrem awed fRac S %241/ Or
3 | 6+8=14
In general, what kinds of commodities (b) CTEE-T R Mafe W & @ @eEny W
create cross-elasticity of demand? faieq B [ws w9 Regorwe w9 @
Discuss the importance  of © cross- FCE, A 9 | 4+10=14
elasticity of demand for business What is meant by price leadership?
decision-making process. Discuss how the oligopolists determine
5. (o) @t dfomm R we _‘ offsw fifd price with the help of price leadership.
& & ¥1Rae 2’3 A1), Agemsn 41 | 7+7=14
Discuss the ‘causes of increasing i

returns to scalerand decreasing returns
to scale.



